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Note : This paper is of thirty five (35) marks containing 

three (3) sections. Learners are required to attempt 

the questions contained in these sections according 

to the detailed instructions given therein. 

uksV % ;g iz’u i= iSarhl ¼35½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu [k.Mksa esa fn, x, 

foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of seven and half 1
2

7  marks each. 

Learners are required to answer two (02) questions 

only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, Lkk<+s lkr 1
2

7 vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks iz’uksa ds mŸkj nsus gSaA 

1. Define general characters of algae in detail. 

‘kSokyksa ds lkekU; y{k.kksa dks foLrkjiwoZd le>kb;sA 

2. Give an account of structure and method of 

reproduction in Ectocarpus. 

,DVksdkiZl dh lajpuk ,oa tuu izfØ;k dks le>kb;sA 

3. Describe the form and structure of Lichen. Give their 

ecological significance. 

ykbdsu ds izdkj ,oa lajpuk dk o.kZu dhft,A lkFk gh 

muds ikfjfLFkfrd egRo ij izdk’k Mkfy,A 

4. Give a comparative account of sporophytes of 

Marchantia and Anthoceros. 

ekdsZfU’k;k ,oa ,UFkksfljksl ds chtk.kksn~fHkn dk rqyukRed 

fooj.k fyf[k,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of two and half 1
2

2  marks each. 

Learners are required to answer six (06) questions 

only.  
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, <+kbZ 1
2

2  vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy N% ¼06½ iz’uksa ds mŸkj nsus 

gSaA 

1. Describe alternation of generation in Bryophytes. 

czk;ksQkbV~l esa ih<+h ,dkUrj dks le>kb;sA 

2. Describe the vegetative reproduction in Chara. 

dkjk esa ik;s tkus okys dkf;d tuu dks le>kb;sA 

3. Define asexual reproduction in Volvox. 

okWyokWDl esa vySafxd tuu dks le>kb;sA 

4. Draw a well labelled diagram of archegoniophore of 

Marchantia. 

ekdsZfU’k;k ds L=h/kkuh/kj dk ,d ukekafdr fp= cukb;sA 

5. What is symbiosis ? How are lichens its example ? 

lgthou D;k gS \ ykbdsu bldk mnkgj.k fdl izdkj gS \ 

6. Describe spore dispersal in Funaria. 

¶;wusfj;k esa chtk.kq izlkj dks le>kb;sA 

7. Define Riccia sporophyte. 

fjfDl;k ds chtk.kqn~fHkn dks le>kb;sA 

8. Why members of Phaeophyceae are known as brown 

algae ? 

fQ;ksQkblh dqy ds lnL; Hkwjs ‘kSoky D;ksa dgs tkrs gSa \ 
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Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of half 1
2

 mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, vk/kk 1
2

 vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

1. Which of the following is the amphibian of plant 

kingdom ? 

(a) Pteridophyte 

(b) Bryophyte 

(c) Algae 

(d) Fungi 

fuEufyf[kr esa ls ikni txr~ dk mHk;pj dkSu gS \ 

¼v½ VsfjMksQkbV 

¼c½ czk;ksQkbV 

¼l½ ‘kSoky 

¼n½ dod 



 [ 5 ] BO–01 

A-2 P. T. O. 

2. Which group constitute the lower bryophytes ? 

(a) Liverworts 

(b) Mosses 

(c) Anthocerotales 

(d) Jungermaniales 

fdl lewg esa y?kq czk;ksQkbV ik;s tkrs gSa \ 

¼v½ fyojoVZ 

¼c½ ekSl 

¼l½ ,UFkksfljksVsYl 

¼n½ taxjeSfu,Yl 

3. Marchantia needs what for fertilization ? 

(a) Air 

(b) Insect 

(c) Pressure 

(d) Water 

ekdsZfU’k;k dks fu”kspu gsrq D;k vko’;d gS \ 

¼v½ ok;q 

¼c½ dhV 

¼l½ nkc 

¼n½ ty 

4. Phylum hepaticopsida belongs to which family ? 

(a) Liverwort 

(b) Mosses 

(c) Hornwort 

(d) None of these 
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Qkbye fgiSfVdksfIlMk fdl dqy dks dgrs gSa \ 

¼v½ fyojoVZ 

¼c½ ekWl 

¼l½ gkWuoVZ 

¼n½ buesa ls dksbZ ugha 

5. In bryophytes the leaves lack what ?  

(a) Mesophyll 

(b) Stomata 

(c) Veins 

(d) All of the above 

czk;ksQkbV~l dh ifŸk;ksa esa fuEu esa ls D;k vuqifLFkr gksrk  

gS \ 

¼v½ ehlksfQy 

¼c½ jU/kz 

¼l½ okfgfudk,¡ 

¼n½ mi;qZDr lHkh 

6. Which one of the following is present in blue green 

algae ? 

(a) Starch 

(b) Cynophycean granules 

(c) Polysaccharide 

(d) Floridian starch 
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fuEufyf[kr esa ls dkSu ,d uhys gfjr ‘kSokyksa esa ik;k tkrk 

gS \ 

¼v½ e.M 

¼c½ lkbuksQkbfl;u df.kdk,¡ 

¼l½ ikWyhlsdSjkbM~ 

¼n½ ¶yksfjfM;u e.M 

7. Ability to fix atmospheric nitrogen is found in : 

(a) Blue green algae 

(b) Red algae 

(c) Green algae 

(d) Brown algae 

ukbVªkstu fLFkjhdj.k dh {kerk ik;h tkrh gS % 

¼v½ uhy&gjs ‘kSoky 

¼c½ yky ‘kSoky 

¼l½ gjs ‘kSoky 

¼n½ Hkwjs ‘kSoky 

8. Plants which are not differentiated into root, stem and 

leaves are called : 

(a) Gymnospherm 

(b) Pteridophyte 

(c) Thallophyte 

(d) Bryophyte 

ftu ikS/kksa dks tM+] ruk ,oa iŸkh esa foHkDr ugha fd;k tk 

ldrk gS mUgsa dgrs gSa % 

¼v½ ftEuksLieZ 
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¼c½ VsfjMksQkbV 

¼l½ FkSyksQkbV 

¼n½ czk;ksQkbV 

9. Which of the following is most advanced group of 

algae ? 

(a) Cynophyta 

(b) Rhodophyta 

(c) Phaeophyta 

(d) Chlorophyta 

fuEufyf[kr esa ls dkSu&lk lokZf/kd fodflr ‘kSoky lewg gS \ 

¼v½ lkbuksQkbVk 

¼c½ jksMksQkbVk 

¼l½ fQ;ksQkbVk 

¼n½ DyksjksQkbVk 

10. Where do hornworts live ? 

(a) On rocks 

(b) On trees 

(c) Water 

(d) Moist areas 

gkWuZoVZ dgk¡ ik;s tkrs gSa \ 

¼v½ pêkuksa ij 

¼c½ isM+ksa ij 

¼l½ ty esa 

¼n½ ue LFkkuksa ij 
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